



St. Louis County, Minnesota

Date of Report: 12/16/2025 7:12:43 PM

**General Details** 

 Parcel ID:
 300-0010-04560

 Document:
 Abstract - 833515

 Document Date:
 10/09/2001

**Legal Description Details** 

Plat Name: COLVIN

Section Township Range Lot Block

28 56 15

**Description:** NE 1/4 OF NE 1/4

**Taxpayer Details** 

Taxpayer Name FRIENDS OF WIRTANEN PIONEER FARM

and Address: 3322 VERMILION TRL
MAKINEN MN 55763

Owner Details

Owner Name FRIENDS OF WIRTANEN PIONEER FARM

**Payable 2025 Tax Summary** 

2025 - Net Tax \$0.00

2025 - Special Assessments \$125.00

2025 - Total Tax & Special Assessments \$125.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15		Total Due	
2025 - 1st Half Tax	\$62.50	2025 - 2nd Half Tax	\$62.50	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$62.50	2025 - 2nd Half Tax Paid	\$62.50	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

**Parcel Details** 

Property Address: 5312 MARKHAM RD, MAKINEN MN

School District: 2711
Tax Increment District: Property/Homesteader: -

		Assessme	nt Details (20	125 Payable 2	2026)		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
736	0 - Non Homestead	\$62,800	\$12,300	\$75,100	\$0	\$0	-
	Total:	\$62,800	\$12,300	\$75,100	\$0	\$0	0





St. Louis County, Minnesota

Date of Report: 12/16/2025 7:12:43 PM

**Land Details** 

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

D - DUG WELL Water Code & Desc:

Gas Code & Desc: Sewer Code & Desc: Lot Width: 0.00 Lot Depth

ot	Depth:	0.00					
he tp	e dimensions shown are nos://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/	survey quality. <i>I</i> frmPlatStatPop	Additional lot Up.aspx. If t	information can be here are any quest	e found at tions, please email <mark>Property</mark>	Tax@stlouiscountymn.gov
			Improvem	ent 1 Deta	ails (RESIDEN	CE)	
	Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	HOUSE	0	45	0	450	-	=
	Segment	Story	Width	Length	Area	Founda	ation
	BAS	1	15	30	450	POST ON G	GROUND
	CW	1	5	10	50	POST ON G	GROUND
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	0.0 BATHS	-		-		-	STOVE/SPCE, WOOD
		I	mproveme	nt 2 Detai	Is (GUESTHO	USE)	
	Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	HOUSE	0	12	:1	121	=	-
	Segment	Story	Width	Length	Area	Founda	ation
	BAS	1	11	11	121	POST ON G	GROUND
	Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC
	0.0 BATHS	-		-		-	STOVE/SPCE,

			Improveme	ent 3 Deta	alis (BATHHOUS	SE)	
I	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	SAUNA	0	22	0	220	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	11	20	220	POST ON GF	ROUND

			Improv	ement 4 [	Details (BARN)		
I	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	BARN	0	52	5	525	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	21	25	525	POST ON GF	ROUND

			Improveme	nt 5 Deta	ils (HORSE BAR	RN)	
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	BARN	0	256	6	256	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	16	16	256	POST ON GF	ROUND

		li l	mprovemer	nt 6 Detai	Is (SMOKESAUI	NA)	
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	SAUNA	0	169	9	169	-	=
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	13	13	169	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 12/16/2025 7:12:43 PM

		Improve	ment 7 Details	s (3 SHEDS)			
Improvement Typ	oe Year Buil	•		•	asement Finish	Style C	ode & Desc
MULTIPLE STOREAGE BUILDINGS	0	41	7	417	-	-	-
Segme	ent Sto	ry Width	Length	Area	Founda	tion	
BAS	0	7	23	161	POST ON G	ROUND	
BAS	0	8	12	96	POST ON G	ROUND	
BAS	0	10	16	160	POST ON G	ROUND	
LT	0	5	10	50	POST ON G	ROUND	
		Improven	nent 8 Details	(HAY SHED)			
Improvement Typ	oe Year Buil	•		•	asement Finish	Style C	ode & Desc
STORAGE BUILDII	NG 0	33	86	336	-	·	-
Segme	ent Sto	ry Width	Length	Area	Founda	tion	
BAS	1	16	21	336	POST ON G	ROUND	
		Sales Reported	to the St. Lou	uis County Audi	tor		
	Class	A	ssessment Hi	story	Def	Def	
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg	
					□ IVI V	EMV	Net Tax Capacity
2004 Dawalla 2005	736	\$69,600	\$13,200	\$82,800	\$0	<b>EMV</b> \$0	
2024 Payable 2025	736 Tota		\$13,200 <b>\$13,200</b>	\$82,800 <b>\$82,800</b>			
•		, ,	, , , ,		\$0	\$0	Capacity -
•	Tota	\$ <b>69,600</b> \$56,500	\$13,200	\$82,800	\$0 <b>\$0</b>	\$0 <b>\$0</b>	Capacity - 0.00
•	736	\$ <b>69,600</b> \$56,500	<b>\$13,200</b> \$8,700	<b>\$82,800</b> \$65,200	\$0 <b>\$0</b> \$0	\$0 <b>\$0</b> \$0	Capacity - 0.00
2023 Payable 2024	Tota 736 Tota	\$69,600 \$56,500 \$56,500 \$56,500	\$13,200 \$8,700 \$8,700 \$8,000	\$82,800 \$65,200 \$65,200 \$64,500	\$0 <b>\$0</b> \$0 \$0	\$0 \$0 \$0 \$0	0.00 - 0.00
2023 Payable 2024	736 Tota 736 Tota 736	\$69,600 \$56,500 \$56,500 \$56,500	\$13,200 \$8,700 \$8,700 \$8,000 \$8,000	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	0.00 - 0.00
2023 Payable 2024 2022 Payable 2023	736  Tota  736  Tota  736  Tota  736	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300	\$13,200 \$8,700 \$8,700 \$8,000 \$8,000 \$6,600	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500 \$53,900	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.00 -
2023 Payable 2024 2022 Payable 2023	736 Tota 736 Tota 736	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300 \$47,300	\$13,200 \$8,700 \$8,700 \$8,000 \$8,000 \$6,600 \$6,600	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500 \$53,900	\$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0	0.00 - 0.00
2023 Payable 2024 2022 Payable 2023	736  Tota  736  Tota  736  Tota  736	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300 \$47,300	\$13,200 \$8,700 \$8,700 \$8,000 \$6,600 \$6,600 Tax Detail His	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500 \$53,900	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.000 -
2023 Payable 2024 2022 Payable 2023	736  Tota  736  Tota  736  Tota  736	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300 \$47,300	\$13,200 \$8,700 \$8,700 \$8,000 \$8,000 \$6,600 \$6,600	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500 \$53,900 \$53,900	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.000 - 0.000
2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	736	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300 \$47,300	\$13,200 \$8,700 \$8,700 \$8,000 \$6,600 \$6,600 Tax Detail His Total Tax & Special	\$82,800 \$65,200 \$65,200 \$64,500 \$64,500 \$53,900 \$53,900	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.000 - 0.000
	Tota 736 Tota 736 Tota 736 Tota 736 Tota	\$69,600 \$56,500 \$56,500 \$56,500 \$47,300 \$47,300 \$Special Assessments	\$13,200 \$8,700 \$8,700 \$8,000 \$6,600 \$6,600 Tax Detail His Total Tax & Special Assessments	\$82,800 \$65,200 \$65,200 \$64,500 \$53,900 \$53,900 \$tory	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	\$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 0.00 - 0.00 - 0.00

\$125.00

\$0

\$0

2022

\$0.00

\$125.00

3 of 4

\$0





St. Louis County, Minnesota

Date of Report: 12/16/2025 7:12:43 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.